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ot+=Eo &AX & 22| (o2& HH) 5242 & 150,000 85,000 65,000
HIAFS
701 JIEISI HSHEE2 150,000 85,000 65,000
03 2I)IYEEHIHAN=2ANES 150,000 85,000 65,000
L2 FHAY 150,000,000& * 14l 150,000
St4=E9o AX L 2| (dH421 ZHIBTLYMZ)_ &t 563,400 1,126,000 A 562,600
>=2tH BTL & &
701 JIEISI HSHEZ 563,400 1,126,000 A 562,600
03 ZIIYELEIHAN=2ANES 563,400 1,126,000 A 562,600
Ootx=2HEH| BTL QIS XAIY 22
93,900,000 x6& 563,400
ol A= &% _SEEHI=SLHeAEHE B 5,000 10,000 A5,000
N EIEYAET
701 JIEISI HSEE2 5,000 10,000 25,000
03 2I)IHYEHIHN=2ANES 5,000 10,000 A5,000
O 4ol Hel&dHE sAAAc2 0l A &
st 5,000,000& =14l 5,000
WHWEHHX S (ot AL EE S| H) 128,000 128,000 0
ALEEZIS S 128,000 128,000 0
701 JIEISI HSHE2 128,000 128,000 0
02 BIIEELEIHABAANEEZ 128,000 128,000 0
OB+ CTANBE a8FL222
6,400,000,000& *2/100 128,000
SHXNES(OIEZ AL ELESIAH) 1,637,000 4,856,000 N 3,219,000
= 382,000
Al 1,255,000
ot EXHC2 ME(dtHElE SXe2 Ast 387,000 646,000 A 259,000
) _ UL H2IE HE S22
= 382,000
Al 5,000
311 X 20| AHak&t 5,000 10,000 25,000
03 ELHEXL 20| AHA&E 5,000 10,000 A5,000
oOgddotr=MHel&dAHE S22 0| XHatst
1,250,000 x4 2 D] 5,000
601 Xl 2| 2 4ast 382,000 636,000 A 254,000
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X ZH -
L= B

el

==
HWeegs (=)
BHEXNE (St AL SE3A)

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 382,000
03 ESLEFRNLAS4E 382,000 636,000 A 254,000
OgtHol=Xcl &AL EXis B=aE
95,500,000& 4= | 382,000
= 382,000
gt 3 J| E 1,250,000 4,210,000 A 2,960,000
802 BHEt= DI EF 1,250,000 4,210,000 A 2,960,000
01 22X 3eeE= 1,100,000 3,850,000 A 2,750,000
O &4 ot=HelAld 43 A 24l g&3(0l
X&) 1,100,000, 000& 14 1,100,000
02 Al - EHIEXZSEHEZ 150,000 360,000 A 210,000
O g4 ot=HelAld S43 A Sl g&3(0l
X&) 150,000, 000& * 14! 150,000
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